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EES A+B

Ee (1)
= (4x®—8x+10) +(F +x+6)
=422 —3x+ 10+ 2 +x+6
=4+ D2+ (—3+Dx+10+86
=5x*—2x+16
A-B
= (dx* —3x+10)— (x*+x+6)
=4x'—3x+10—x"—x—F6
={d—Dx*+(—-3—1Dx+10—6
=3x*—4x+4
{2y A+B
=@ -2 +1)+ P +x—1)
==+ 1+ 2421
=22+ (—1+ D +x+1—-1
=x*+x
A—B
=(x’~x2¥l;1)—(xz+x—1)
=g —gt 1= —x+1
=2+ (—-1-Dxf—x+1+1
=x"—2x*—x+2
A+2B
= (3x* — 22+ 5) +2(2x* —4x—1)
=3x?—2x +5+4x*—8x—2
e (34+4)x+ (—2—8)x+5—2
=Txt—10x4+3
() 24—3B
= 9(3x%2 —2x+5)— 32« —dx—1)
= 6x® —dx+10—6x+12x+3
= (§—6)x? + (—4+12)x+10+3
= Bx+13

B0 (1) 4x(x*+4x—3)
- =4y~ x? +dx-dx+4x-(—3)
= 4x®+16x* —12x
(2) (8x®—2x+5) X (—2x)
= §x?+ (—2x) —2x - (—22) +5- (—22)
= —6x5+4x*—10x . '

B Q)

Bt Q) (x+6)(2x+3)

= x(2x+3)+6(2xl+3)
=2x*+38x4+12x+18
=2x*+(3+12)x +18
=2x*+15x+18

@ @Bx—2=—-D
= Sx(le)—Z(xHI).
=3x*—3x—2x42
=32+ (~3—-2x+2
=3x*—5x+2 .

3) (x+5)(2x*—3x—6)

© = 2(22* —3x—6) +5(2x* —3x—6)
= 2x° —3x® — 6+ 10x* —15x — 30
=22+ (—3+10)x*+(—6—15)x—30
=2x*+7x*—21x—30

@ (@x—3Hsx*—x+2)
= 2x{dx? —x+2) —8{dx®* —x+2)
=8x*— 24" +4x—122° +3x— 6
=82+ (—2— 122"+ (4 +3)x 6
=g8x*—14x*+T7x—6

CEIE (D) (x+2P=At+2ex 2+

=t +dx+4
@ (x—5P=xt—2-x-5+5
= x*—10x+25
3 (x+3y)°
=2 +2-x-3p+(3y)°
= x®+6xy +95°
{4} (Bx—4y)®
= (3x)* — 23z - 4y + (4y)°
= 9x% —24xy + 165°
B Bx+2)Bx—2)
= (BxP—2 =9x*—4
6) (Gx+29)Ex—2y)
= (5x) — (29)° = 25x* —4»°
@iE (1) G+9+3) |
=x*+(5+3x+5-3
. =x2+8x 415
(2} (z—3)x+86)
=2+ (—3+6)x+(—3)-6
=x?+3x—18
(@) (x+4y)ix—7)
=zt + Ay —Ty)x+4y- (—7¥)
= x® = 3xy—28y"
@ (x—)(x—59)
=2 4+ (~y—53)x+(—y)-(=52)
= x*—bxy+5>

:
87 ) xv+re=x(y+2)
(2) 32%+b={8a*+1)b
3) abc—acd =ac-b—ac-d -
= qgc(b—d)
4} 12x%y+ 18xy® = Bxy-2x +6xy- 3y
= 6xy(2x+3y)
_ = (x+2)
(9) 4x?--20xy+259°
= {2x)?—2-2x -5y + (5y)
= (2x—5¥)° .
{3) 9x2—25= (3x)*—5
= (3x+5){(3x—5)

(@) 36x°—49y" = (6x)*~ (T9)?
o =(6x+7y){6x—Ty)
I8 (1) 2 +5x+6
=2+ (2+3)x+2-3
={x+2)(x+3)
(2} x*—x—12
=2+ {3+ (—))x+3-(—4)
= (x+8)(x—4) ’
(3} x*—9x+18
=z +{(—3) +(=)}x+(~3)- (—8)
={x—3)(x—6)
[4) x®+5x—24
=2 +{(—3)+8}x+(—3)-8
= (x—3){x+8)



